Deriving the formula for the area of a tnangle

We know that the area of a rectangle is MNow let's consider an acute triangle.
base times height. We split it into two right tnangles.
Why is the area of a triangle equal to
one halt times the base times the height?
First consider a right triangle.

Do you see it?
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MNow consider an obtuse triangle ABC (shaded below). We
first draw a height. Now we can see two right

tnangles: ABD and BCD. We know how to find the area of
aright triangle.

hase Area of right triangle ABD = one half * base AD*height
Area of right triangle BCD = one half * base CD*height

So (DRUMRBOLL)

Area of triangle ABC (shaded below) is the difference of the
two areas, the bigger right triangle minus the smaller right
triangle, namely, 1/2*x*height - 1/2*y*height =

1/2 (x-y)*height = 1/2*z*height =

1/2 * base AC * height!

Z = base of trangle ABC=x -y



